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1. Answer any four of the following : | 1x4=4
©oR Rt SRy e 9 0 2

Jﬂ) Which one of the following is an economic factor influencing
the distribution of population ?

TRy Regde @407 (A SR @RS yftafos o ?
Choose the correct answer .

&% ©QIH! MR TST $

{i) Climate (TeW4)

i) Soil ()

(B3] Minerals (3f#& LR))

(iv) Landforms (F&3S)
(b} Which one of the following is a secondary activity ?

Fve @Rk kSite {fe?

Choose the correct answer :

o% CEIo! IR Glasd 2

(i) Paddy cultivation (472fS)

fii) Mining (39)

(iii} Chemical based industry (W BT
(iv) Tourism (75A)

Which one of the following is.not a terﬂary activity ?
Ee (@RG goRR e 75e

Choose the correct answer :

&% CICo! Uz Oed ¢

(i) Advocate (Tdl)

(i) Teacher (%)

g#} Industrial worker (Somst +5)

(iv) Doctor (GI&q)
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(d)  Which onc of the following is a secondary activity ?
frx SEERs @RI frdim qfcs
Choose the correct answer
o Bl AR Gleredy :
(il Farming (&)
(i) Manufacturing (ffie @7e)
(i) Hunting (fo@R 1)
(iv) Trading. (IRAR F7)

(e}~ Which trans-continental railways of the following connects
Halifax city with the Vancouver city ?

RN (@0 SRR (@47 (Z0es bRaE (S5F ©fF b3 #1518
WA FROZ?

Choose the correct answer :

u% GGIo! A Gfed ¢

() Prans-Siberian Railway (FF-PREAN (F41)

(i) Trans-Canadian Railway (GF-ITel (F9i%)

(i) The Union and Pacific Railway (Z8FER W% 2% (=74)
(iv) The Trans-Australian Railway (W—Eﬁﬂjﬁﬁm (F9L)

(/" Which one of the following types of economic activities
dominates in all rural settlements ?

FECE A GAPIfes Ged (Frad i e
Choose the correct answer :
w% BeFh] alfe Glad ¢
(ij Primary (2l4f®)
(i) Secondary (fa€tme)
(iii) Tertiary (“@E‘EW)
{iv) Quaternary (F99%)
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o

(@ As per 2011 Census, the popuylation density (persons per

sq. km) in India is

203 BRY (FAIRHPRE TP SRER Sy warg (A1 ifes 2of ffin) 2
Choose the correct answer :

u& TeIh AR Blered 2

i} 313 {©39)

i} 328 (9v)

(i) 382 (9bR)

(iv] 390 (©d0)

2. Answer very briefly : {any four) 1x4=4
s s Twx ot ¢ (Riziar Bif<oY)

@)
oo
fel
@
(el

W
g
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Name of the state where Hooghly Industrial Region is located.
2ol Srajtel SieE AR ST AN

One mining town of Assam

e g3 ARRSTeR AR

One administrative city of Assam
TN 9 TR 5R

One type of Non-Ferrous mineral
offy oG Sy <Fw ome -
Location of Tata Iron and Ste‘el Plant
BIB1 (A5 TrmieR wriER .
Highest amount of sugar progticing state of India
oeR 1K (5T Seoe a1 qreneR
One National Park of Assam

TANA G G Ty



3. Answer in brief : fany ten) 2x10=20
5% ©%R fwni ¢ (R wRiY)
(@)~ Write two major causes of population growth.
el g T R By
) (bt Mention two types of subsistence agriculture.
7% AFRA (41 PN SR T
| ¢~ Mention two types of plantation agriculture.
72 9IR @I9F P SEY |
(d) What are the two main factors affecting mining activities ?
W LT Her [T 9 24 wie 7o) [ R
fe} Mention fwo types of animal based industries.
ERE T AidS 72 e SraeR W R
(w/ Which are the fwo main factors of population migration ?
GG Aq TR 7o) & e |

(g} Give two reasons of low level Human Development in most of
the Northern States of India.

TEd Ol9oq ITTYRS SEFIRATSE Ta i SRFad 27 REIw @[E 75
Fizel weefiat |

p

.Meni_ion the name of fwe mining towns of India.
viged 7o ffefes oi@ A9 TR 2|

, !}}/ Mention two zaid crops produced in India.
CRETEE Serw il GG GTEW P AR a8 SrEd 9

M~ Name fwo cropping seasons of India.

, ORSR Fh g wga A e

MName fwo non-metallic minerals found in Assam.

SEINE (AR 7Y O-4IEaS ATE wwie
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(1} Mention two industrial Regions of India.
< O R wHBFAL AN BrEy 54 |

}n} Name two nternational Airports of India.
| e K SrESfed [N TR A forei

4. Answer the following questions in about 100 words each ' (any nine)
3x9=27

o fral T AfoUBR BET S00B! i fwws i ¢ (Reael 700
faf  Who are considered as literate persons in India?

srws (@ 7o e FEFS @ o w1 e
ﬁﬁ/ Discuss the approaches to Human Development.

G BT AT R S B4
) Mention the main characteristics of Foot Loose Industries.
se P SrmeR 4 ReIEeTE S 4
(d) Write the basic difference between barren land and cultivable
wasteland.

Wmmﬂmmwwoﬁwﬁiﬁw

ﬁ/ Discuss briefly the major causes and effects of depleting water
resources in India. -

TS GET T 2 (ARG T FRe Wi O TR TILF S |

() Write briefly about the knowledge based industries. |
wRies Somer e s fol

(g) Write briefly on the types of industries on the baéis of ownership.
TSR ST el 41 PR REm BE R

/9;)’ Write about the Hill Area Development Programme in India.
e AR s Trge IPPpIE R i

/(i)/ Write about the Satellite communication system in India.

SRTT Tolagd T T Q@i JeE K
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Discuss about the importance of Rail Transport in India.

SREIT (@F A% IRVR say wiEpa B

(kL—Write the main causes and consequences of Air Pollution.
AY AT 2 IR SIS TR Gy @ |
Write a note on Petrochemica] industry of Assam.
TP (AT IETIRE SO eome @bl BRI
5. Answer the following questions : fany three) 5x3=15
weTe Il TR Oes it 3 (Ricerz folann)
{a) Give the definition and explain the importance of Human

Geography. 3+2=5

| WA PR RS T W B a2 400

i

{d)
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What do you understand by density of population ? Mention
the major factors influencing the distribution of population.

2+3=5
G TG N 6 3o 2 Sprais Revere 2o (ARl 4 SRR
ey 91 |
Write about the factors affecting tourism.
Aome 2orifEe 9 TP I
Explain thc functional classification of towns.
2R fofes Moiee (s W 411
Draw an outline map of India and mark the locations of the
following therein :
Claeqdq SIS (wediZ ¥ TAbE Sika FAI BRE ©FG oS femaia
GIZE (rged|
(ij Dighai (fesi7a)
(i} River Brahmaputra (974 “I41)
(i) Jamshedpur (@A)
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